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T [ PEIF-~N-IT | t=TcmlTF | mi [RiE&LY 2245.40 2250
ASFCEE m3 |2245.4%0.05 112.27 112
ASERALIE m3 [2245.4%0.05 112.27 112
RE#HRT BHE
X E g (E43) 15cm M [125.2+52.1+85.1+6.9+6.4+135.9+129.2+3 3%2+3 901%2+3.1 74%2+5 607%2 572.76 570
HE
X B4R (E248) 15cm m [259.3 259.30 260
BHE
RE#H (£TJS5) |30m(Zi8) | m [3.691 3.69 4
BHE
RER (FTZ)  [45em(iglisE)| m |3+7+1.666 2267 23
BHE
KER (T EEWISHRE) Fyk m |1.4%x24 33.60 34
HE
RE#R (XF - ESWISHEE) TF m |6%5 30.00 30
HE
R B (XF - REWISHRE) Ay m [16.5%2 33.00 33
HE
RE# (XF- REWIsHRE) 1k m |[5.6 5.60 6
HE
REf T Eewsng) | RERFE | m [(5.94+7.36+7.1+5.74+8.74)%2 69.76 70
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ASEREE m3 [273.73%0.05 13.69 14
ASERLEE m3 [273.73%0.05 13.69 14
XEHRT B
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REHI] XE#HER) 15¢m m [172.4%2 344.80 340
HE
X E#R (B HR) 15¢m m [86.2 86.20 86
HE
XEFER(ETS)  [30mZ=ibig)] m 4.7 470 5
HE
RER(ETS) |semazmse)| m [525 52.50 53
HE
RE® (X -22wsng)| HA4v m [16.5%2 33.00 33
HE
RE&(XT-2ewske)|  1EFEh m [18.6 18.60 19




